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Measures of Central Tendency
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1.HYHTH (Mean)
29D (Median)

3.9gdl® (Mode)

HHTA(Mean)

Fefl vt Y HIUY T UgEl YR 1 AU § SHD! SHIORT (Arithmatic) 3 off Fg1 STaT 8,
AT U] BT ocd $g BIdT & HEA J Ui 81 & Sl FH UT 3febY & TN o) U1 37ep
1 TR YT 3 TR U gial g

e I U1 bR bl &l ddidp &
1.3/q71fpd 3fidsi & fol¥ (Ungrouped Data)
HYHT (Mean)="1" 23" ... W/ N

L o e E I —— xn A JH UTEATD §, TUT N UTdieh| bt T B
HHYHTT (Mean)=(ZX)/N

5 X= UTWITeh] &1 AT (Total data)
N= UTGIiP] &1 T=AT(No. of data)

IETE0 .- AT F 10 BET P AR e H urdios Hgad & oY 37 3E1 &1 U 3iehl gRT AeqH
EIGEIIEIY

YTl -76,44,68,60,52,62,72,57,63,46

HYHTT (Mean) = X1+X2+X3+-----===------ Xn/N
= 76+44+68+60+52+62+72+57+63+46/10
=600/10

=60 Ans.



OR
3 X=76+44+68+60+52+62+72+57+63+46
= 600
N=10
HYIHT (Mean)= (ZX)/N
= 600/10
= 60 Ans.
e .- afe wy ¥ Ui a1 Smafy aFl & 7S 81 o Fafaied 93 &1 van s §
HEHTT (Mean)= (Zfx) /N
f= GI'IQ'R'I (Frequency)
x= UTWI® (Data)
N= UTWi® &t S&T (No. of data)
SGTERUT - D P B! GRT YT Ui | GRT HLHH J1d BHiford |
UTiP-62,50,57,52,60

3mgfxi- 10,12,8,7,3
WP 00 | SN | preios x st (x)

62 10 62x10=620
50 12 50x10=500
57 8 57x10=570
52 7 52x10=520
60 3 60x10=600

N=40 $fx=2220

HHYHTT (Mean)= (2fx) /N

2220/40

55.5 Ans.



feirg faftr (Second Method)

R AdeF e e mE I g |

HYHTT (Mean)=A+ ( 2fd / N)

A= HfUd 71 (Assume Mean)

f= anqﬁr (Frequency)

d= fage= (Deviation)

N= UTWi® P1 ST (No. of data)

STERUT - D& b BTN GRT UG UTAieh] gRT HLH I BHITT |

UTWi®-62,50,57,52,60

3mgfxi- 10,12,8,7,3
WIS (x) | 3AgRI(f) | [dTa-(Deviation) d=x-A | 3l x faae T (f.d)
62 10 62-57=5 10x05= 50
50 12 50-57=-7 12x-7=-84
57 A 8 57-57= 0 08x00= 00
52 7 52-57=-5 07x-5=-35
60 3 60-57= 3 03x03=09
N=40 3fd=-60

3fip sl & H TSI B! Hicd AL A & o Bl AT (Assume Mean) A=57
HYTHAT (Mean)=A+ ( 2fd / N)
=57 +(-60/40)
=57+(-1.5)
=57-15
=55.5 Ans.
Z.HTﬁ.QW ma?ﬁf({ (Grouped Data):-
AL JTd B & 9 TR G -
1. faftrs anifeRt &1 we fofg I ova
2. U& qil=R & U Al foig &1 37! gy I 7O ol &
3. YT GNTh el Y 3T g Pl ol TN A HIT A B |



HYHTT (Mean)= (2fx) /N

x= U=’ BT HA ﬁ'g’ (Mid point of Class Interval)
f= Gﬂﬁ'ﬁ'f (Frequency)

N= UTWi® ®1 ST (No. of data)

Sarexul - Fufefad sihsl gRT werd Jd BT |

TR(C.1) 5-9 10-14 15-19 20-24 25-29 30-34
ST () 2 3 5 8 12 10
Solve:-
?:I'lﬁv_vlT(CIass x (Mid point) anqi%r (f) GIE'RT x Y ﬁ'g’
Interval) (fx)
5-9 7 2 2x7=14
10-14 12 3 3x12=36
15-19 17 5 5x17=85
20-24 22 8 8x22=176
25-29 27 12 12x27=324
30-34 32 0 10x32=320
N=40 2fx=955

HYHATT (Mean)= (2fx) /N
= 955/40

= 23.87 Ans.

feirg faftr (Second Method):-

ie:- 39 Uy H Bictrd A1e 8 < =R & dl oy aii-ar & 3mgfy 9t enft agt ictd Ares g |
HHYHTT (Mean)=A+ (2fd) /N

A= BfUd HI (Assume Mean)

f= anqi%r (Frequency)

d= fage= (Deviation)

N= UTWi® P1 ST (No. of data)



IST8 0 - FfIRId sfiws! gRT ALTHM I1d HIfoTg |

T=R(C.1) 5-9 10-14 15-19 20-24 25-29 30-34
3R (f) 2 3 5 8 12 10
Solve:-
TR (C.I) | x (Mid point) | 3MGRI(f) | f[aa@I(Deviation) d=x-A | 3T X fa=e  (f.d)
5-9 7 2 7-22=-15 2x-15=-30
10-14 12 3 12-22=-10 3x-10=-30
15-19 17 5 17-22=-5 5x-5=-25
20-24 22A 8 22-22=00 8x00=00
25-29 27 12 27-22=5 12x5=60
30-34 32 10 32-22=10 10x10=100
N=40 3fd=75

HEIHTT (Mean)=A+ ( 2fd / N)
= 22+(75/40)
=22+1.87

= 23.87 Ans.
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